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6.2 The boy moved parallel with a speed of 5 m/s in a distance of 100 m

then he moved further 50 m with a speed of 10 m/s.

Question : What is his average speed ?4(10 marks)

Solution
Given ; Vi = m/s ST S m
Vo = e m/s S, = e
Find ; v =7 Find t, , t, first
Equation ; V= ——
51
therefore to = —
V1
........ m
t is equals to t, =
........ m/s
= e S
........ m
t2 =
........ m/s
= e, S
S, +S,
V =
av
t1+t2
..... +.....
..... +.....
= e, m/s

Answer : Therefore, the boy moved with an average speed of

"05uns gasml (2554). (Gaadin). wih 22,

waifiunengengulag Mr. JERIEL HIDALGO BALDONADO
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6.2 The boy moved parallel with a speed of 5 m/s in a distance of 100 m
then he moved further 50 m with a speed of 10 m/s.

Question : What is his average speed 7 (10 marks)

Solution
Given ; v, =5 m/s S, = 100 m (1
v, =10 m/s , 52:5Om (2)
Find ; v =7 Find t, , t, first
S
Equation ; vV = — (3)
t
S1
therefore t, = —
V1
100 m
t is equal to t, = (4)
5 m/s
=20 s (5)
50 m
t, = (6)
10 m/s
= b s (7)
S, +S,
VGV =
‘[1+‘[2
100 + 50
= — (8)
20 +5
= 6 m/s 9)

Answer : Therefore, the boy moved with an average speed of 6 m/s (10)
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6.2 InAWAAAaNAuAunTIFieanTEa 5 m/s g 100 m wdnasissiadng

5597159 10 m/s  (BY19 50 m ANWIEAsUSURALIansnANE (10 Az

38911
Tangninun v, =5ms , s, =100 m (1)
v, =10 m/s , 52:5Om (2)
Tangdanumn v, = 7 lagfeom t , t, fiew
S
FINFNNNG vV o= — (3)
t
v 1 S
qx{fqn t, = —*
V1
, o 100 m
UWNAIT t azlddn t, = (4)
5 m/s
=20 s (5)
50 m
t, = 6)
10 m/s
=55 (7)
S1+ 52
VGV =
‘[1+’£2
100 + B0
- - (8)
20+ 5
= 6 m/s 9)

1
=}

= @ g Ao (% @ A 1o
iyl HUAD  WNAKUHLANDRYIAIUDHTIIURRYLYINNY 6 m/s (10)
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Tangdrnnua v. = 50 km/h , v. = 60 km/h , v. = 20 km/h

3

s, =10 km , s, =10 km , s, = 10 km

1 2 3

Tangarumn v, =7
S
IINFNNG v, = —
t
Py Sy Sy S3
aglfign t, = + o, = 2t = 2
v1 V2 v:’>
v ¥ 10 km 1
PN t = — = — h
50 km/h 5
10 km 1
t, = —— = — h
60 km/h 6
10 km 1
t, = —— = — h
20 km/h 2
4 (S,.+S.+5S,)
Heean v, = ————
(t1+t2+t5)
. (10 + 10 + 10)
WAUATAN Vv : v o=
av av 1 1 1
(—+ —+ )
5 6 2

v = 345 km/h

av

ul/ = o =4 d' o/ dyd 1 1 [
A1 WUAD BRNT19URNYYDITOAUNNAIYINNY  34.5 km/h
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o Al o o d! % o 4 &
4. A nNu B WHBNNIRINTLITNGA ] NUIAIBDATIITTNIUTAND 5 m/s ey 6 m/s

AR LiBaWull 60 s A iU B ezeginaiuwinla (9 Azuuw)
ad o
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Tangdrnnua v

A 5 m/s
60 s

AANNITIT FTHZANIEY A U

’ VB

A t

B 1Halna WUl 60 s:s.—-s. = 2

B A
s
FINANNNT v = —
1
a2 (a1 s = vt

wnA s, azlidn s, = (5m/s)(605s)

s, = 300 m

wnd v s, axlFdn s, = (6m/s)605s)
s, = 360 m

o s,-s, = (360 - 300) m

= 60 m

e A fiu B azaghiniufidindy 60 m 1Hedeld 60 s
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